F5600m] 4 H A ARl 5 b b pib S IR AR

N E= R A
BB o OH R ey i
BT xRN R g
B Ok # o E AW IR
o £ et s
AT [ kiR 20L 30 IfE 5L 6fiL ThL 8hiL
THEH PEEIER T A S 12.05| TR FAD 12.36 |HEFT B (1) 12.37|EA EED) 12.42| K% Hz1) 12,54 M EE() 12.65| M 3(1) 12.75| I 21 13.11
00mET )= ik e BT SR Kl )11 ek
THEH TEE2ER [k e 1LA3[#ENI] FE3H(2) 11.66 | AT fAI(2) 1176 [ v fiIA(2) 12.08|3 1= #A@2) 12.20[11°F 5F4©) 1222|484 HER() 1241 FR AFak@) 12.51
J00mD) Vg, Ly BHU i i [OEe SEhR B —
THeH PFESEL T R ) 1LB9| KM #(3) 11.60| i FHh(3) TLT3|HRIR JOHE(3) 11.85| A 1 45(3) 11.85|f@ 5 —HH(3) TLIT|/ K B (3) 11.96 |85 FIK(3) 12.00
J00mE et PES Ll i Il il AER LS
7H5H thEE B -200m K WZER) 23.15 (i HEARHI2) 24.05 | KHE3) 24.27( 7 HH3) 24.56 |[fA [ELHL(3) 24.75 | A HEFA(3) 25.08|F L #A2) 25.22(E% HEQ) 25.25
J&.:+0.2 BRIR SSIUR L Eil P Lz GBS iYL
7060 | 225 F100m AN fR(3) 52.71 (A HEEL(3) 53.60| & H TREFH(3) 54.04| 1A Fi%L(3) 55.11(AffHH FE(3) 55.38| A EAH1(3) 55.76|li 41 9L(3) 55.80 (/A KE(2) 57.89
I R S % 4 AR R B
7060 | a2 7800m HH RIR3) 2:00.02 |4t 75 A(2) 2:01.22| 5 W) 2:04.64 |1l EFE(3) 2:06.93 S/ FE(3) 2:10.31 (BRI HRE(3) 2:12.63 [KEIL 8(2) 2:12.97| V611 M (2) 2:13.14
I S by Kl J I Hhfi) Hn B
7760 | 425 7 1500m S M) 4:21.45[{RAE KEH3) 4:21.47 [Ty BE2) 4:26.71 T2 FFAEH(3) 4:27.07 (Bl f(2) 4:29.20[# T #(2) 4:32.56 [ (R {iEHi(3) 4:33.16 [ 1E #5K(3) 4:33.33
By B Pl By L HE BBl )11 40
7heR | PELERT LS 4:37.27| R 75(1) 4:44.19 (I (1) 4:46.30 [/vbk (1) 4:47.24 [0 fEK(1) 4:48.27 M R ARR5(1) 4:49.95 [k ERI(1) 4:51.48 (3 b 3T 4:55.26
1500m K% Lis F I I BRMHR =il IR ol
TH6R | 25 7-3000m HEAr ETA3) 9:09.72 (Mt EHL(3) 9:12.53 )1 k= KERI(3) 9:19.14 [ IR FEKEG) 9:28.68 1L #k1(3) 9:34.54|(HiE —IE(Q2) 9:40.89 [ 1£1%(3) 9:51.27(F1HE T —(3) 9:52.79
)11 LS )5t /SS Sk BRIHR R JLis
TH5H TEB T I B EE) 15.86|Fi % (3) 16.22|Hk  BE (3) 18.00[f@ M #H(3) 18.40|FRF [RI(3) 19.30 |l H(3) 19.72| R[] ELHE(2) 19.90 |38 AA(2) 19.95
110mHO.914m)Y g1 5 w1l = B K i il i
FSRHE- S W 44.94| R B T 45.16 | #ify -y T 46.02| 4 Fn- 5 M 46.35 3[4 K5 M 46.95| =1+ 5 M 47.18| K1+ J5 T 4731 R8s I 47.49
e g (IS YNG)) HE IAHQ) —E O ik JnEa1) i hike3) AR —2%(3) Ry KI3)
THEA | yoomr | TR FR(3) KA WH(2) U IRIAQ) IWF ) s B () R —k(3) Ak JTAG)
ki O flEth(3) A AUH(2) BRI ACHI(3) A AE3) wOEREG) & HSHEB)
ikt BH3) KA PERQ) L)) HAT Z3(3) AR Haf(1) Sie HIk@®) Jii] 5 9(3)
THER | iiEem ok B EEER) 1m70| K7 i#A(3) 1m65 | 54 1mBO| KA PEAR(3) 1m60 | 1= FHE®) 1m60 | G2 HAKEG) 1m60| B HHE(2) 1m55 | & FAHER) 1m55
AR K% (37 L il ENI] il HE
- o |HOA BAR(3) 4mO0 [& 1l %R (3) 2m30 [4EH  Z&H(2) 2m00
THEH |25 rikmpk ey At b
150 | e e KHHG) 6m08(+0.7) |t St —Ik(3) 6m03(+0.5) [t AIA(2) 5m95(+0.9)| FLks  HHIN(2) 5m56(-0.2) [ #5(3) 5m53(-0. 1) |faA HER(2) 5m46(+0.8) [£f 1 HEHIE(3) 5m41(-0.1) [ 1R —¥(3) 5m31(+1.7)
EeE S PNt PR i TR Fous 48 P11
7H6H EP#_;‘;?—(@;&& = HH3) 9m98 [ IR R{=(2) 9Im76 | F1)11 Hhik(3) Im52| IR & #(3) 9Imd6|ErAk FLA(3) 9m45 |# BE(3) 9Im19|F7E 1 (3) 8mIl|FAAK EEYR(3) 8m73
(5.000ke)  [ppd i B i Ha A S £
BRI BE2) 22395 | I () 167043 [ KIF {HE(3) 157053 | #A(3) 147383 A FIRER) 146553 | HH #AR) 14513 5% BkQ2) 86415
THS5H | e r4afiss |9 AR T HE i Eidiec Elei
~6H % 16.32(+2.0)-10m70 19.68(+2.0)-8m06 20.45(+2.0)-8m64 20.44(+2.0)-9m91 21.17(+2.0)-8m01 20.76(+2.0)-9m41 22.03(+2.0)-5m95
1m61-56.44 1m52-57.00 1m55-59.64 1m46-1:02.97 1m46-58.24 1m46-1:01.95 1m20-1:06.36
196 PEEVELT | L B 12.98| A HH(D) 13.07|#akT AEAE(L) 13.27|462 Fis(1) 13.57 Bl JER(1) 13.87 |11 we(1) 13.87 |8 2 A7R(1) 13.88|HIHT HiF(1) 14.00
100mE i oyl il i By PN LI B E
196 FE2E LT (W Fh() 12.94| I {T(2) 13.00| %1 AA(Q2) 13.26 |t 3B(2) 13,499 312 13.49| K7 3B(2) 13.50|HiA Q) 13.63[Hd <U7(2) 13.71
00mE gy g B Bk I i Bk~ S [l
T A i) 12.61 jttﬁ H4(3) 13.07|#JF 1200:3) 13.12 f&u FEAA(3) 13.19 i 3(3) 13.26JF b fE:4%(3) 13.35\HAH 16 1 34(3) 13.36
7A6H )IOOmD =5 FOEls i i (3 i By I fwax
JR:+0.7 SENL ARHR) 13.19
B
7550 e 7-200m BN #R(3) 27.43|3 E HZ®B) 27.66| 1L %£(3) 27.75| 58 BH(3) 28.03 @Il 1#(2) 28.27|5FA Hli L3 (3) 28.36 |4b# #id(1) 28.64 kAR ELZR(3) 28.77
05 | By ity S B SERUR i i)t
TH6R | ot 7800m Em #T2) 2:23.80| AL HZE(2) 2:24.02| = {iHE(3) 2:25.52 |8 RHE@Q3) 2:26.42|JHE JKZEQ) 2:28.20 |51 &Z43(1) 2:28.28|FR Q) 2:29.50 | % BET-(2) 2:33.71
SRR Sy Al )N A LS Hn BRIHR
7560 | 24 71500m HE f72) 4:56.00 | FE [T {i54(3) 4:56.23| P62 #hE(3) 4:56.27 |G+ RIHE®3) 4:57.60|%3)11 431 5:06.72 |52 FiL(3) 5:07.27|#k BLF(3) 5:08.10| ffil fEHE(3) 5:09.10
SRR T ES )N WA By B pir) =]
TH5H PELT | HHREQ) 15.36 % 10 F54(3) 15.38 |2 fE379(3) 15.88|URA (3) 16.09| &AL Fné&(3) 16.80|f&H 1] H2£(3) 17.90 1L EfR(3) 19.57
°F | 100mH(0.762m) ik ST ok BB ek JUEIA
50.34 =R+ J5 HL 50.71 (K5I - 1 51.26 &M 1 51.83 52.32| il e 55 M 52.93 | K5I - 5 HR 55.19
- < ORARQ) il BHEEB) A HH) AR H62) il G) =B BKREG) W A1)
THEH | foomr  |HH #5G) ik -GHEG) AT R Mk 75 Il (3 W ) HER FG)
A F34(3) wmA HHEG) TR PEE3) I 3 () ZH AERQ2) SR =) L)




dbE EA(3) i iT(2) BT H Q) I 130ME) AR 2EQ) WA HEQ)
Wl JTAIAB) 1m45| A FIHL(3) Imd5 | F HHEQ2) Im45| F& J5%©2) Im40|EA EHG3) 1m35 IF () Im35 |5 LR Q2) 1m30
THER | e s 7Bk fEx st O )=) & iﬁiﬁ%mj‘ AEE el B
FH I 3(2) 1m35
K%
THEH | d e | @) 5m41(-0.6)| A FH(3) 5mO8(+1.3) ik F5HI(3) AmB8(+1.0)| 5 HEA(3) AmB5(-0.9) | FHI(3) AmB3(+0.5) [ A (2) AmAT(-0.2) A [ Q) Am45(-0.5)[ 5 M #iA(1) 4m31(-0.3)
=i =8 (RS SRR BEHEH— i) iy ik
TH5H e A TR L 11m22 |kt 2 x (3) 9m87 [ H HH(3) ImO8[ =4 AR(3) Sm78|H i £UA) 8m75| WM &) 8m52| 1A H5(2) 8m51| A 4Z4(3) 8m10
(2.721kg) | = sl L A [ H 8 4 B
OKHH2) 1869 | H FHL(2) 133340 BLiL A HL(2) 122643 HHf SEAN(2) 9224 | WE KZE(1) 6735 (AL (1) 641645
THSH | el arlp R Il 9 ] O it
~6H 33 16.78(+0.8)-1m30 19.13(+0.8)-1m15 22.03(+0.8)~1m30 19.86(+0.8)-1m05 22.83(+0.8)-1m05 22.34(+0.8)-NM

6m09-28.91(-3.5)

5m64-30.62(-3.5)

6m38-31.76(-3.5)

5m34-34.84(-3.5)

5m05-35.41(-3.5)

5m06-32.93(-3.5)

JUE NM:gedk7aL




